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def partition(arr,low,high):
i = ( low-1) # indexz of smaller element
pivot = arr[high] # pivot
for j in range(low , high):
# If current element <s smaller than or
# equal to pivot
if  arr[j] <= pivot:
i=1i+
arr[i],arr[j] = arr([j]l,arr[i]
arr[i+1],arr[high] = arrlhigh],arr[i+1]
return ( i+1 )
Listing :\ External file code
b Jserd Y.
S sl 5 50 5) asloe (p2bs e b Soled sl
E| 0R
|0V = [4} = where E =10V, k=25 (")
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| 0R [ 0R/R (10~®) | 6V (mV) [ Theoretical § V (mV) |

0 0.00 0.05 0.00

1 8.33 20.00 20.83
2 16.67 40.90 41.67
3 25.00 61.40 62.50
4 33.33 81.90 83.33
5 41.67 102.00 104.17
6 50.00 122.30 125.00
7 58.33 142.00 145.83
8 66.67 161.70 166.67
9 75.00 181.50 187.50
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